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To stabilize the main rate supplement, although a little inconsistent with
both, but will find one of the equilibrium point, toward the first forward.

In view of the 3D printing technology is currently being red, was
originally intended to buy a 3D printing machine to manufacture all the
parts difficult to finish, not only fast and low-risk but also create a special
difficult to machine parts, and so on that can reduce human error waste
material, but it was good at processing constituencies, so | decided to still
use traditional processing method, although this method than 3D printing



fast, but you can save the cost of the next large print machines, can more
appropriately use its funds in his place.
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